The following table shows the details about (i) the number of students studyving in five
different classes A-E of a school. and (1) participating neither in chess nor in carrom (iii) the
ratio of students who participate in Chess to Carrom. The remaining students play either
chess or carrom. Based on the data in the table answer questions 1-5:

(Class-wise Participation in Games

Number of Students | Ratio of Students
Total Number | . L C e
Class £ Shadents without participation | participating in

WEInERTe in both the games Chess to Carrom
A 420 119 4:3
B 330 88 7:4
C 240 110 8:5
D 125 45 9:3
E 390 130 8:5
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A 420 119 4:3
B 330 88 74
& 240 110 8:0
D 125 45 2:3
E 300 130 8:5

What is the total number of students participating in Chess from B. C and E togethex?
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[Question ID = 906][Question Description = 101_00_General_13_SEPT22_Q01]
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2)

The following table shows the details about (i) the number of students studying in five
different classes A-E of a school. and (i1) participating neither in chess nor in carrom (iii) the
ratio of students who participate in Chess to Carrom. The remaining students play either
chess or carrom. Based on the data in the table answer questions 1-5:

Class-wise Participation in Games

Number of Students | Ratio of Students
Total Number | . .
Class of Students without participation | participating in

' = in both the sames Chess to Carrom
A 420 119 4:3
B 330 88 T4
C 240 110 8:5
D 125 45 9:5
E 390 130 8:5
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What is the ratio of students participating in Carrom from B and C together to the students
participating in Chess from A and D together?
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[Question ID = 907][Question Description = 102_00_General_13_SEPT22_Q02]

1. 19:35

[Option ID = 3625]
2. 20:37

[Option ID = 3626]
3. 93:34

[Option ID = 3627]



4 22:35
[Option ID = 3628]

3)

The following table shows the details about (i) the number of students studyving in five
different classes A-E of a school, and (11) participating neither in chess nor in carrom (iii) the
ratio of students who participate in Chess to Carrom. The remaining students play either
chess or carrom. Based on the data in the table answer questions 1-5:

(Class-wise Participation in Games

Number of Students | Ratio of Students
Total Number . . .
Class of St dents without participation | participating in

' ° in both the games Chess to Carrom
A 420 119 4:3
B 330 88 T:4
C 240 110 8:5
D 125 45 2:3
E 390 130 8:5
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A 420 119 4:3
B 330 88 T4
& 240 110 8:5
D 125 45 2:3
E 300 130 8:0

What is the average of number of students participating in Carrom from D and Chess from A?

DA &g gy AR ya o um & w2 faenieh £ demnsi @ siea @ 20
[Question ID = 908][Question Description = 103_00_General_13_SEPT22_Q03]
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[Option ID = 3629]
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[Option ID = 3630]



3. 150

[Option ID = 3631]
4125

[Option ID = 3632]
4)

The following table shows the details about (i) the number of students studying in five
different classes A-E of a school. and (11) participating neither in chess nor in carrom (iii) the
ratio of students who participate in Chess to Carrom. The remaining students play either
chess or carrom. Based on the data in the table answer questions 1-5:

(lass-wise Participation in Games

Number of Students | Ratio of Students
Total Number | . L C e .
Class of Studenis without participation | participating in

' = in both the games Chess to Carrom
A 420 119 4:3
B 330 88 T:4
C 240 110 8:5
D 125 45 9:53
E 390 130 8:5

frtferfiga arferen 4 ven Taenera &1 oig fam-fag sesn 4 @) sieggam faenfdal ) den, sin @)
ferenfed i &1 Heen ot 4 9 0 9T o 2 R A A S O, 3N () veEa 9 gm o Jre faen e
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A 490 119 4:3
B 330 88 7ed
c 240 110 a5
D 128 45 2.3
E 390 130 8:5

Number of students participating in Chess and Carrom fom Class E is what percent more or
less than the number of students participating in Chess from C and D together?
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[Question ID = 909][Question Description = 104_00_General_13_SEPT22_Q04]
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[Option ID = 3633]
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[Option ID = 3634]
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[Option ID = 3635]
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[Option ID = 3636]

3)

The following table shows the details about (i) the number of students studying in five
different classes A-E of a school. and (i1) participating neither in chess nor in carrom (iii) the
ratio of students who participate in Chess to Carrom. The remaining students play either
chess or carrom. Based on the data in the table answer questions 1-5:

Class-wise Participation in Games

Number of Students | Ratio of Students
Total Number | . .
Class of Students without participation | participating in

' = in both the sames Chess to Carrom
A 420 119 4:3
B 330 88 T4
C 240 110 8:5
D 125 45 2:3
E 390 130 8:5
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B 330 88 7.4
c 240 110 &5
D 125 45 2:3
E 390 130 8:5




If students who do not participate in both Chess and Carrom from A is increased by 3%;7%.
then the number of students participating in Chess from A is decreased by what percent?
(Ratio of students participating in Chess to Carrom remains same for A)
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[Question ID = 910][Question Description = 105_00_General_13_SEPT22_Q05]

1. 200 [45%

[Option ID = 3637]
2. 30041%

[Option ID = 3638]
3. 300/45%

[Option ID = 3639]
4. 400/ 704

[Option ID = 3640]
Topic:- GP_22SEPT22_SH1_S1_PartB

1)
A chemistry teacher 1s learning marketing management as a hife-long learning process. Which
type of learning can this be categorized as?

e fagm 6 ve i Sfas gl gl & w9 4 fayve gdgs o sfom o @ 2) o fea gen &
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[Question ID = 911][Question Description = 106_00_General_13_SEPT22_Q06]

. Formal education

sity=rfre foian
[Option ID = 3641]
2. Informal education
AT e

[Option ID = 3642]

3. Non-formal education

i1 - 3o fen
[Option ID = 3643]
4. Offline education
i o foen

[Option ID = 3644]



2 Match List T with List I :

Last I Last IT
(Learning Disabilities) (Symptoms in learners)
(A) Dysecalculia (I  Dificulty in reading and writing words
(B) Dyslexia (IT) Difficulty in writing correct spellings
(C) Dysgraphia (IIT) Difficulty in holding objects
(D) Dyspraxia (IV) Trouble in counting

Choose the correct answer from the options given below :
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[Question ID = 912][Question Description = 107_00_General_13_SEPT22_Q07]
T (A)-(IV). (B)-(IL). (C)-(III). (D)-(I)

[Option ID = 3645]

2. (A)-(II), (B)-(AV). (C)~(I). (D)-(I1I)

[Option ID = 3646]
3. (A)-(IIL), (B)-(I), (C)-(II). (D)-(IV)

[Option ID = 3647]
4 (A)-(IV). (B)-(I). (C)~(II). (D)~(I1I)

[Option ID = 3648]

3)

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) :

Reasons (R) :

Formative assessments are used for providing feedback to the learner for

improvement,

Formative assessments improve teaching-learning process.

In the light of the above statements. choose the correct answer from the options given below :



di 2 %[ feu wu 2 . vs P9 (Assertion (A)) & ®9 4 fafiga 2 @ e IHF F (Reasons
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[Question ID = 913][Question Description = 108_00_General_13_SEPT22_Q08]
1. Both (A) and (R) are true and (R) is the correet explanation of (A)

(A) 31 (R) &F1 571 2 370 (R). (A) =l 9l sgmzn 2
[Option ID = 3649]

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(A) 31 (R) §F1 59 & oA (R). (A) &1 w1 samen 968 2
[Option ID = 3650]
3. (A) 18 true but (R) 1= false
(A) 51 2 “fE (R) 3194 2
[Option ID = 3651]
4 (A) 1s false but (R) is true
(A) 39 2 oifed (R) 97 2

[Option ID = 3652]

4)
The provision of earning credits from Optional and Elective courses was introduced in higher
Education Institutions by which of the following?
Jafore @ =EATeIs Tl 4 wise A % gEyr %) Fofafge 4 8 e gm o= foen sensn
ARy fan w2
[Question ID = 914][Question Description = 109_00_General_13_SEPT22_Q09]
1. Academic Bank of Credit
U W T hfee
[Option ID = 3653]
2. MOOCs on SWAYAM portal
R (THESUETEs) GidA W ol
[Option ID = 3654]

3 Choice Based Credit System

T 3T hise Sgaee



[Option ID = 3655]

4 Vocational eourses
[Option ID = 3656]

5)

While delivering a lecture, there is disturbance created by students in class. Which of the
following measures should be taken by a teacher?

Fafl H SR ol |49d gEl 5P fas G fEn am R e g fefafae 9 3w w e s
ai[%!_{‘r

[Question ID = 915][Question Description = 110_00_General_13_SEPT22_Q10]
- Punish those causing disturbance.
Teree I7FR AT 1 SfEd e
[Option ID = 3657]
2. Ignore and continue,
a1 Al 3 AE] BEA
[Option ID = 3658]
3. Leave the class and report to Head of the institution
el TS F HEA % TP F O
[Option ID = 3659]

4. Talk to the students causing disturbance and motivate them for learning.

feren ge9a s faenfefg] 9 am o 32 dhE & fom Ut s

[Option ID = 3660]

6)

Interpretivism is an epistemology which contrasts
STl Udh Ul FH -t 2 o e & faafa 8-

[Question ID = 916][Question Description = 111_00_General_13_SEPT22_Q11]

. Hermeneutics

syrErT e
[Option ID = 3661]

2. Subjectivism
IELEIELGICIC
[Option ID = 3662]

3. Positivism
e

[Option ID = 3663]
4. Phenomenology



a1~ T -Tasm

[Option ID = 3664]

7)

The internal validity factor in research is related to the issue of

i1 § 3R S w0 HeEe fey fawa | d 2 -
[Question ID = 917][Question Description = 112_00_General_13_SEPT22_Q12]
' Qausality
FHHUTAT
[Option ID = 3665]

2. Naturalism

WEETe
[Option ID = 3666]
3. Generalisability

HrT=f et

[Option ID = 3667]
4 Duplication

for
[Option ID = 3668]

8)

Which of the following are positive features of content analysis?

(A) It does not need sampling of contents,
(B) It iz an unchtrusive method.

() It i= ighly flexable in character.

() It iz a transparent research method.

(E) There 13 no need to use it for longitudinal research.

Choose the correct answer from the options given below :
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[Question ID = 918][Question Description = 113_00_General_13_SEPT22_Q13]
1. A B.COnly
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3.
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[Option ID = 3669]
2. B, C.DOnly

FaAaB. C.D

[Option ID = 3670]
3. D.C.EOnly
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[Option ID = 3671]

4 A D.EOnly

FIAA D E

[Option ID = 3672]

9)

Statement [

Statement 11

Given below are two statements :

A systematic review of literature defines the purpose of the review in

explicit terms,

The systematic review can he applied to qualitative research since 1t 1=

not evidence based.

In the light of the above statements. choose the correct answer from the options given halow :
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[Question ID = 919][Question Description = 114_00_General_13_SEPT22_Q14]

e[ 130 O eF 8 &

[Option ID = 3673]

Both Statement I and Statement IT are true

Both Statement ['and Statement IT are false

oA 1 3 11 2F1 95 7

[Option ID = 3674]

Statement I is true but Statement IT 1= false

Ho T HA 2, «ifehd %93 11 353 2

[Option ID = 3675]



4. Statement I is false but Statement I i= tiue

FeH 1 WEA 2, ol ee 1 2

[Option ID = 3676]

10) Match List T'with List IT:
List I List IT
(Scale) {Focus area)
(A) TLikert {I) Popularity levels
(B) Gutteman (IT) Stereotypes
(C) Bipolar (IIT) Attitudes
(D) Index (IV) Political conservatism

Choose the correct answer from the options given below :

-1 % |19 &1 H1-11 faem i

11 q1-11
(1) (HTFHE &)
(Ay Fermd (I FrERTEE T
(B) T8 (Iy *=fggzard (Stereotypes)
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[Question ID = 920][Question Description = 115_00_General_13_SEPT22_Q15]

1 (AT, (B)-(II), (Cy-(IIT), (D)-(IV})

[Option ID = 3677]
2. (A)AID. (B)-(IID). (C)-(IV). (D)-(D)

[Option ID = 3678]
3. (AJIID). (B)-(IV). (C)-(ID). (D))

[Option ID = 3679]
4 (A)-(IV). (B)-(I). (C)-(I1), (D)-(I1T)

[Option ID = 3680]
1) ...........1s equated with hizh-brow cultural communication.

fraferfian 4 & fon serenfia aiefae S g e A
[Question ID = 921][Question Description = 116_00_General_13_SEPT22_Q16]
- Film exhibition
JefeE wesH

[Option ID = 3681]

2. Street theatre
A2 12

[Option ID = 3682]



3. Folk dance

AT
[Option ID = 3683]
Classieal music

9ITE TS HITA

4.

[Option ID = 3684]

12) _— N .
In communication. the process of framing 1= much influenced by

HOY] 1§ =Y g9H (framing) &1 WEE W S # s1faE wame T2 8
[Question ID = 922][Question Description = 117_00_General_13_SEPT22_Q17]
- The political order

mraAfe saeT

[Option ID = 3685]

2. The escapist tendeney

EEIEECI GGG

[Option ID = 3686]
3. Cultural backeround

[Option ID = 3687]
4. Semantic barriers

et HE Ay

[Option ID = 3688]

13) In constructive contexts of effective listening behaviour, communication is characterized by;

(A)  Trivial disturbances

(B) Wealk feelings

(C) Identification of the common ground

(D)  Finding out the areas of mutual agreement.

(E) Search for real issues,

Choose the correct answer from the cptions given helow :
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[Question ID = 923][Question Description = 118_00_General_13_SEPT22_Q18]



. A.B. C Only

#ad A B, C

[Option ID = 3689]
C.D. E Only

Fa4C. D E

[Option ID = 3690]
A.D.E Only

FAAAD.E

[Option ID = 3691]
B, C. D Only

FIAB. C. D

[Option ID = 3692]

14) Given below are tivo statements ;

Statement T :  Enculturisation of societies happens through education and persuasive
communication.

Statement IT : Art and public communication contribute for the non-socialisation of
people.

In the light of the above statements. choose the correct answer from the options given below :

Ji= @ s feo o 2

e 1: | & gEpd, e o favareres aum § # 2

FeH I1: el 300 HEAh H &P & 3EmTeEm o  eeE F E)

THTF R AT °, = f2e o faee O 8 g8 3 e 9 i,

[Question ID = 924][Question Description = 119_00_General_13_SEPT22_Q19]

1.

2.

3.

Both Statement I and Statement IT are true

F94 13 I &9 54 &

[Option ID = 3693]
Both Statement I and Statement IT are false

CRIER g IR (R

[Option ID = 3694]
Statement I1s true but Statement II 1s false



FuF [ 6 2, wifFd w9 11 375 2

[Option ID = 3695]
4. Statement Ii= false but Statement IT 1= true

FA [ A B, A U [ HE 2

[Option ID = 3696]

) Match List I with List IT:
ListI List II
(Communication context) (Characteristic)
(4) Physical (I}  Stress and anxiety
(B) Psychological (II} Obzervance of norms
(C) Social (III) Familiavity-oriented
(D) Relational (IV) Environmental factors

Choose the correct answer from the options given below :

H1-1% A1 &1 gH|-11 [HeH S

11 111
(Hom He) (emaiforeren )
(&) wifes (I) e 3 fa=m
(B) g (IL) "] H HIeH
(C)y  HyuTfae (IT1)  Hfastar-3=pe
(D) HEEHEF (IV) T HR

Fre feu o faamal O | |E I w1 =2Y9 Fi
[Question ID = 925][Question Description = 120_00_General_13_SEPT22_Q20]
1 (A)(IV). (B)-(I). (C)-(ID). (D)-(I1I)

[Option ID = 3697]

2. (AN(IIT), (By-«(IV), (C-1I). (D)-(II)
[Option ID = 3698]

3¢ (AID. (By-(IID), (Cy-(IV). (D)-(T)
[Option ID = 3699]

4. (A)-(T), (B)y-(II). (C)-(III}, (D)-(IV)

[Option ID = 3700]

16 : CL. 3 ! ! ] =
) Find the missing term in the zered givenras: 2, 5, 9, 19, 37.7

&l 74 spgen H &6 we 7w fifaw 2, S5, 9, 19, 37,7
[Question ID = 926][Question Description = 121_00_General_13_SEPT22_Q21]
1. 74

[Option ID = 3701]
2. 75
[Option ID = 3702]
3. 51



[Option ID = 3703]
4. 61

[Option ID = 3704]

17)

A man starts from a point A and travels 3 km fowards east to reach B and then turns left and.

travels thrice the distance to reach another point C. From there he again turns left and
travels five times the distance he covered between A and B and reaches his distination D.
What is the shortest distance between the starting point and his destination?

uek wif A fag @ wern wrw e 2 3 qd favn 4 3 faedl, were B W qde@ 2 AR a7 A 3 g3
AT R HE A A e g faeg © W wEs e R AR 4 g e i 3T qE A 2 3 A G B %
e &1 g i ot gl @9 @ W g s as D W ada i 21 grfus fag R g e & A
1 =g ght el 2 2

[Question ID = 927][Question Description = 122_00_General_13_SEPT22_Q22]

1. 12 Km
12 feprfi

[Option ID = 3705]
2. 15Km

15 feai
[Option ID = 3706]
3. 24 Km

24 fepd

[Option ID = 3707]
4. 37 Em

27 fardi
[Option ID = 3708]

18)

If WONDER is coded as YQPFGT then how MUSEUM shall be coded in the same scheme?

gfe ‘WONDER' &I #1s ‘YQPFGT fean man 2, o 36t =fm i MUSEUNM &1 12 #01 &0 7

[Question ID = 928][Question Description = 123_00_General_13_SEPT22_Q23]

1. OUWGOW

[Option ID = 3709]
2. WOUWGO

[Option ID = 3710]
3. OWUGWO

[Option ID = 3711]
4. OUWWGO

[Option ID = 3712]

19)
D?

The average of & Consecutive numbers A, B. C. D and E is 12. What is the produet of A and

gTE SHPT HENHl AL B, C, D 3l E &1 3i18a 12 8] A 31 D @ UE%e #1677

[Question ID = 929][Question Description = 124_00_General_13_SEPT22_Q24]

1. 140



[Option ID = 3713]
2. 120

[Option ID = 3714]
3. 110

[Option ID = 3715]
4130

[Option ID = 3716]

20) A trader marked the price of his commodity so as to include a profit of 253%. He allowed a

diseount of 16% on the marked price. What 1s the actual profit he earns?

U M 4 25% 1 A A3 w WA U6 &1 4o sifea ) 3uH sifed gon m16% @ aE (92)
fezm| a9 gm wifda amafas o a=n 27
[Question ID = 930][Question Description = 125_00_General_13_SEPT22_Q25]
1. 9%
[Option ID = 3717]
2. B%
[Option ID = 3718]
3. 16%
[Option ID = 3719]
4 20%

[Option ID = 3720]

21 R ; ; 2
) If the statement "All men are honest” 1= given as false. which of the following could be inferred

immediately from 1t7

(4)  Some men are honest’ 1 false

(B) ‘No men are honest’ is true

(C) ‘No men are honest’ iz undetermined
(D) ‘Some men arve not honest’ 1s true

Choose the correct answer from the options given below ;

afe #Ya- B 959 SHHEGE & FHS & #=9 4 femn e 2 @ g8 @ fefataa § 3 T aefes =y
# wuia foe = A 20

(A) 'F3 [ WA B, #AE R

By wrd ot p drEn E B, ae Rl

(©) ‘i3 W P gEEgE A 2, sfsifE 2

(D) ‘%@ 59 HHER A6 2, a2

feuw wmu feeredi 1 8w T @t = hifan,

[Question ID = 931][Question Description = 126_00_General_13_SEPT22_Q26]
1. Aand B Only
F9e1 A 3 B

[Option ID = 3721]
2. CandD Only



el C #H D
[Option ID = 3722]
3. AandD Only

FaE A I D

[Option ID = 3723]
4. Band D Onlr

FaA B D
[Option ID = 3724]

22) i
x1ven below are two statements :

Statement I : In Square of opposition. the opposition hetween a universal propostition

and its corresponding particular proposition is known as subalternation.

Statement 11 : The opposition between No S 1= P' and ‘Some S 1s not P iz called

subalternation.

In the light of the above statements. choose the correct answer from the options given below :
e &1 e o 2 -

FAl: 0" & Sqdd § s wderfl wiawfe 3 aen T ufasta % de faa & 3w &

T8 H AT AT B
#eH I @R S . PAA & 9N Fo S. P Al & @ 4= faid & amgEm #w o 2

THIH FU9 & AT 4, 4= fzv o fawen 4 |8 g a9 & 993 $ifau

[Question ID = 932][Question Description = 127_00_General_13_SEPT22_Q27]
1. Both Statement I and Statement I are true

Hed 137 12 5 2

[Option ID = 3725]

2. Both Statement T and Statement I are false

FYA [ 30 11 §Hi 957 7
[Option ID = 3726]
3. SBtatement I is true but Statement [T 1= false
FvH T HA 7, oifd & I 39 7
[Option ID = 3727]
4. Statement T is falze hut Statement IT is true
Feq 1 35 B, cfehd &4 1A 2

[Option ID = 3728]



23)
“There 1s no such thing as knowledee which cannot be carried into practice. for such

knowledge is really no knowledge at all.” Which fallacy is committed in the above statement?
“gy w5 faaw 3@ % w0 99 2, ol w5 ey 0 38 R oo meEn 29 U o FH 9rEE O FH
foepa &1 71 IWI FUE § -1 a9 em fhn o 20
[Question ID = 933][Question Description = 128_00_General_13_SEPT22_Q28]
. False Cause
Tz

[Option ID = 3729]
2. Begging the Questicn

WA & Y

[Option ID = 3730]
3. Amphiboly

EEEaPET
[Option ID = 3731]

4. Fallacv of Compostition

gzl &1 7k &

[Option ID = 3732]

A

24 ; ; § . F i
) Which of the following correzponds to hetu (reazon) according to clazsical Indian Logicians’

FeATTHeh] WA ARl & WHR HElEfad 8 | S 2 (FHR) HJ 0 v
[Question ID = 934][Question Description = 129_00_General_13_SEPT22_Q29]
1. Therefore thiz hill has fire

gyfem, 24 verdt O H1fH 2

[Option ID = 3733]
2. Because it has smoke

Fifh, $HE 437 21
[Option ID = 3734]
3. this hill has fire

g Targl 1§ wrfy &)

[Option ID = 3735]
4. This hill has smoke which 1s invariably associated with fire

4 Tl 4 g 2, off Fargare w9 4 wfy 9 desg 2

[Option ID = 3736]



25)

Given below ave two statements :

Statement [ : Classical Indian logicians regard deduction and induction as two

separate logical processes.

Btatement IT . According to Classical Indian logicians verbal form is not essential to

Inference.

In the light of the above statements. choose the most appropriate answer from the options

given below :
A 21 = fow m 2
94 I:  gerhaehl wwdra aehumell FRre o s ) 1 Pas arfde afen & e 0 o A
FoE 11 Fennfaedl undtg o snfadi & san s = sgae & fon srenavas 38 2

I ®ed & et 0, e fou o fasedi O @ wed Ivgw I w 9uE i

[Question ID = 935][Question Description = 130_00_General_13_SEPT22_Q30]

1.

2.

3.

4.

Both Statement I and Statement II are corvect

aher T 37 11 &1 5él 2

[Option ID = 3737]

Both Statement I and Statement II are incorrect

%= T 371 11 g1 e &
[Option ID = 3738]

Statement I is correct but Statement I is incorrect

e THA 7, Al %21 11 Ted 2

[Option ID = 3739]

Statement I 1s 1ncorrect but Statement II 1s correct

®Y L7erd 7, oo &yga a8 2

[Option ID = 3740]



26 : . y 4
) Given below are two statements : One 1= labelled as Assertion A and the other 1= labelled as

Reaszon R.

Asszertion (A):  E-Governance is important for good governance in Higher Eduecational
Institutions.

Reasons (R): E-Governance 1= responsive, transparent and subjeetive.

In the light of the ahove statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A}
(2) Both (A) and (R) are true but (R) 12 NOT the correct explanation of (4)
(3 (A) 12 true but (R) is false

(4) (A) 1= false but (R) 1s true

A= @ A fau e 2 us HfuEyd (Assertion (&) % ®9 4 fofga 2 A1 ¢80 5% F1 (Reasons

(R)) % =91 :
HiwerzA (A) - - T e HEnsd O qerEa & o geeng 2)
I (R) : S-S, TEEy Wi sl 2

AT U F A O, A few o faeedl 9 A w8 a w9 Fifao

[Question ID = 936][Question Description = 131_00_General_13_SEPT22_Q31]
1. Both {A) and (R) are true and (R) is the correct explanation of (A)
(A) 31 (R) g1 H 2 3l (R), (A) &I HAl sqre) 2

[Option ID = 3741]
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(A) 31 (R) a1 |7 3 &t (R), (A) 1 @8 =amen 74 2

[Option ID = 3742]
3. (A) 15 true but (R) is false

(A) 7 B olfe (R) 3199 2

[Option ID = 3743]

4 (A) iz false but (R) is true
(&) w5 2 difeda (R) 57 2
[Option ID = 3744]

27)

Which of the following would most hikely be considered unacceptable use of information by a

teacher?

Frfefian U | fagen T ASER S HEE & 3TEN w1 gaie Feed) s e e



[Question ID = 937][Question Description = 132_00_General_13_SEPT22_Q32]

K Using the school district’s database to determine gender distmbution in local schools.

i faemerEl § S fedtagem’ (o aes faam) & famm % foao faenes fae % 2ems
1 IFAN I
[Option ID = 3745]
2. Using the Internet history on a Classroom computer to audit student Internet use.
Tl & e I Fl era-yien & o wan & v e Wosse fE @ 3R] e

[Option ID = 3746]
3. Using student’s personal data to create a mailing list for a local charity.

g wmie o fom v gfepr g2 g9 % fa ol & =i 2o @ 3w s

[Option ID = 3747]
4. Using classreom records to determine recipients of academic awards.

HEEE AGTed & WHEAHA & [ & fau w1 % wfeng] & 3w &=

[Option ID = 3748]

20 Given below are two statements :
Statement I : ‘PARAM-Shivay supercomputer was buillt under the National Super
Computing Mission at IIT-BHT.
Statement IT ¢ PARAM-Shivay supercomputer iz of 833 teraflop Capacity.
I the light of the above statements. choose the correct answer from the opfions ziven below :
H g #eE fou o E

deE I T gw eein favm % osmia s, s, & i v=. g, 0 wo-fEm g g .
fmtur fapan g )

®ed IT: "o -ToEms’ g sosper 833 SO AT # 2)

I HY9 & e O, G4 o om fGead § 9 98 30 % 991 Fifa

[Question ID = 938][Question Description = 133_00_General_13_SEPT22_Q33]
1. Both Statement I and Statement I are true
& 1 3 11 aF |e 2

[Option ID = 3749]
2. Both Statement I and Statement I1 are falze

FoF 1 30 I &9 559 2

[Option ID = 3750]



3. Statement I1s true but Statement IT is false

FYd 19 2, ciféhat e 11 997 2
[Option ID = 3751]

4. Statement Iis false but Statement II is true
#eA 1 7Ee 2, difehd &eE 1L 9 2

[Option ID = 3752]

29
) Which of the following isfare not exampleiz) of Cloud Service?

(A) Googzle Drive

(B)  MezghRaj

(C) Dropbox

(D)  Windows Explorer

Chooze the correct answer from the options given below :

Frferfian i # v /@ Fore i % sam w8 2/

(A) 7T gREE
(By e
(C) EETEs

Dy o= veen

feu o fawmedi § & |d 39 @ =19 Sifaw,

[Question ID = 939][Question Description = 134_00_General_13_SEPT22_Q34]
1. B Only
Fad B
[Option ID = 3753]
2. D Only
#4961 D
[Option ID = 3754]
3 CandD Only
el € 3D
[Option ID = 3755]
4 A BandD Only
FAAA B LD

[Option ID = 3756]



30)

Match Tast I with List IT :
List1 List IT
i Tvpe of a Wehsite) {(Website Address)
(A) e-Commerce (I} wwwlinkedin.com
{B) Building up social media | (II) www.bing.com
(C) News (IIT) www.amazon.com
(D) Search engine (IV) www.bbe.co.uk

Choose the correct answer from the options given below :

el -1 <6 W9 1 H=I-11 fyerm it

g1 w11
(T=HTZE 1 THH) (d&HTEE 1 )
(A) 3 - FHE (D www.linkedin.com
(B) | difzn &6 wgad &1 | (1D www bine.com
(C) 3 (9U=EHE) (IIT) www.alnazon.com
(D) =4 T5H (IV) www.bbe.co.uk

Jre feu o fawmed § & T 39 @1 999 Fifau .

[Question ID = 940][Question Description = 135_00_General_13_SEPT22_Q35]
T (A, (B)-(D). (C)-(IV). (D)-(IIT)
[Option ID = 3757]

2. (A)(ID, (B)-(IV ). (T)-(T). (D)-(I1T)

[Option ID = 3758]
30 (A)D), (B)-(IT), (CY-{IV). (D3-(IIT)

[Option ID = 3759]
4. (A)(IID), (B)-(D). (C)-(TV). (D)-(ID)

[Option ID = 3760]

3N Which of the following hooks created awareness about adverse mmpacts of DDT which

ultimately led to the banning of this chemical in the United States of America?
freferfan 8 8 i feae 3 S48, % quwd + 9 4 swsd 39a $1, G smm 9 mmEs 46
Haw T it § giaafaa )
[Question ID = 941][Question Description = 136_00_General_13_SEPT22_Q36]

. Silent Spring

arEeve fem
[Option ID = 3761]
2. Earth in the Balance

[Option ID = 3762]
3. Anmimal Farm

ufE



[Option ID = 3763]
4. A Sand County Almanac

[Option ID = 3764]

32) Given below ave two statements :
Statement [ . To qualify as a biodiversity hotspot. an area must have at least 15000
spectes of vascular plants.
Statement I1 :  To gualify az a biodiversity hotspot, an area must have 50% or more of

Its priginal vegetation.
In the Light of the above statements. choose the most appropriate answer from the options
ziven below :
FeR I:  foef & % o9 fafgum 2z - o9fe 61 3@@ 90 %99 & foe o arfzes de 61 @9 5 @w
15000 warfeai #F1 =miaw)
oA 11 et 2 0 Ja fafaam @ #fe - w9 &1 w@m 9 %99 & fow =@l w50 sfdem o 299
o Hel Aeata # Anfan
IRTH FYH & A 4, F v o fawedi d 3 #9839 IR &1 994 Hifau

[Question ID = 942][Question Description = 137_00_General_13_SEPT22_Q37]

- Both Statement T and Statement IT are correct

#e T 30 I g &4 7
[Option ID = 3765]
2. Both Statement I and Statement IT are incorrect
wea 1 31 IO g TTerd 2
[Option ID = 3766]
3. Btatement I is correct but Statement IT is incorrect
Feq T HE B, @fehd &9 11 7Tetd 2
[Option ID = 3767]
4. Btatement I iz Incorrect but Statement IT 1s correct
oA LI 2, offea A 1198 2

[Option ID = 3768]

33 : . . o
) Which of the following stores the maximum amount of liqguid freshwater?

Trcpra O & 24 aran ol (e s aee) &1 a=99 it gafea s 27

[Question ID = 943][Question Description = 138_00_General_13_SEPT22_Q38]

. Rivers. streams

A, awrd

[Option ID = 3769]

2. Groundwater



3.

4.

s

[Option ID = 3770]

Freshwater lakes

GIERICI Il il

[Option ID = 3771]

Ao Yy

Wetlands

[Option ID = 3772]

34)

Identify the features associated with Kyvoto Protocol.

(A)
B
(Cy
(D)

Heavier burden on developed countries to cut down greenhouse gas emissions,
International emissions trading.
Nationally determined centributions,

Clean Development Mechanism,

Choose the correct ansiver from the options given below :

T2 -greTehTe | Halaa fagmensdi = gearfa)
= w13y 1) 6 w2 F feium oo afas 9@
g Jr W Fyita geeE

(A)
(B)
(C)
()

feu am faekeqi 4 | A 39 &1 924 Sifan:

[Question ID = 944][Question Description = 139_00_General_13_SEPT22_Q39]

1.

2.

3.

4.

A. B, and C Only

#ad A B3 C

[Option ID = 3773]

B. Cand D Only

&ae B, C #1 D

[Option ID = 3774]

A, BandD Only

FAA BN D

[Option ID = 3775]

A.Cand D Only

e A C. 3R D

[Option ID = 3776]



35)

Arrange the following renewable energy sources In inereasing order of their potential in

India.

{A) Solar Ensrgy

(B) Biomass Energy

() Wind Enerey

(D) Geothermal Energy

Choose the correct answer from the optlons given helow !

A 4 Jefieiita S S 6 A el %9 3 yaiem w0
(A) i F

(B)  HE 4H Al

(C) 44 Hdl

(D)  Yy-am A

few o Famsen {4 9@l 39 & = Hifau

[Question ID = 945][Question Description = 140_00_General_13_SEPT22_Q40]
' D.B.C.A

[Option ID = 3777]
. B.DAC

[Option ID = 3778]
3. B.D.C.A

[Option ID = 3779]
4 D,B.A.C

[Option ID = 3780]

36)

Given below are two statements :

Statement [ . The medical treatises of Charaka and Sushruta were included among
ancient sources of education in India.

Statement IT : Among ancient sourees of education no distinction was drawn between

shastras (Learned diseiplines) and Kavyvas (imaginative and creative
Literature)

In the light of the above statements. choose the correct answer from the optlons given below :

9 21 e feu e 2

Fe I

aqra 4 foren & wrEiE =@l § v i g2+ fafeed gy afoiae faam 9

w9A ;. foen & wria =l O s (sifermfia favg) vd s (Femmgs st gl afes) &

#T9 w12 e 97 o oA

I FY & e 4, 4 feu o famen O 8 gd I W e it

[Question ID = 946][Question Description = 141_00_General_13_SEPT22_Q41]

1. Both Statement I and Statement IT are true



4.

1.

3.

4.

FeE [ A1 I EH1 5@ 2

[Option ID = 3781]

2.

Both Statement I and Statement IT are false

FeE 1 90 I &1 #5978

[Option ID = 3782]

3.

Statement [ 1s true but Statement II is false

FeE 163 2, sifd &ya I 95 2

[Option ID = 3783]

Statement I 1s false but Statement I is true

e [ 99 B, offsd % I 4 2

[Option ID = 3784]

37)

Match Tist T with List T :

Tist1

{(Education Comimissions)

ListIT
(Proponent)

(A) National Enowledge Commission

(2009)

(B) University Education Commission
(1948-49)

(C) Secondary Education Commission
(1952-53)

(D) The Education Commission (1964-66)

(Iy  Dr. 8. Radhakvishan
(II) N Sam Pitroda
(IIT)y Dr: D.S. Kothr

(IV) Dr. Lakshamanaswami Mudalivar

Choose the correct answer from the options given below :

H-1 % H14 ) HHI-1 e it

g1 HeI-II
(f1en @) (A
(A) TEE FH AW (2009) @ =N, T EE
(B) favafaerers fan smm (1848-49) | an Ay fi=me
(€) et Fan swm (1052-53) (TIT) =i. 91, w8, &g
(D) o =g (1964-66) (IV) =i, Femoram yefean

9= feu . faemed] O 8§ 58 I @ =999 i

[Question ID = 947][Question Description = 142_00_General_13_SEPT22_Q42]

(A)TID). (B)-(IV). (C)-(L). (D)=I1II)

[Option ID = 3785]
2. {A)

<(II). (B)-(D. (C)-(III). (D)-(IV)

[Option ID = 3786]

(A

1), (BY-(IV), (C)=(ID), (D)-(I11)

[Option ID = 3787]

(A)-(IT). (B)-(I). (C)-(IV), (D)-(III)




[Option ID = 3788]

38) Given below are two statements :

Statement I : Distance Education Bureau (DEB). of Univercity Grant Commisszion
(UGC) has replaced the Distance Education Council (DEC).

Statement IT : Indian Couneil of E‘a.gricﬂtin'al_ Research (ICAR) provides financial and
professional support to Aericultural Universities for modernization and
Strengthening of academic facilities.

In the light of the above statements. choose the correct answer from the options given helow :
4 91 e fao o &

F44 I:  gred foen gfwz (31 4 ) ) Reafaaem saee 3mEm % o g Ben = (24 )
gm1 ufeeriaa fan w2

w9 TL:  WRATE i FgEae ufme (snddusm) s fvafmrem § defies gfamsi & smfhemm
we Hggter e faeita s st wrm gem e R

AT FEE F AT o, 91 fov v fawen § 8 98 3 =991 i
[Question ID = 948][Question Description = 143_00_General_13_SEPT22_Q43]
1. Both Statement I and Statement II are true

®24 1 30 I &F 4 7

[Option ID = 3789]
2. Both Statement I and Statement IT are false
FA 1 300 11 gH1 3797 &
[Option ID = 3790]
3. Statement I is true but Statement T is false
He I HeY 2, Al @2 11 378 2
[Option ID = 3791]

4. SBtatement I iz false but Statement II 1= true

#yq 1 3™ B, i & I 5 7

[Option ID = 3792]

39
) Information and Communication Technology (ICT) integration with teaching and learning

results in:

(A) Providing correct information in a comprehensive manner.
(B) Replacing books with online material

(C) Helping learners to hroaden their information base

(D)  Replacing teachers with Computers

(E) Assessment throuzh online exanmination

Choose the most appropriate answer from the options given below :



1.

2.

3.

4.

1.

o1 v e i (s ) % foem i i & e o 8 o A

(A
(B)
(C)
(D)
{E)

dra fan o feprerdl @ | H=8 95 3 &1 =54 Al ;

U ST Al B HA o GEH FA]

QAR 1 ST HRA G ufe &

forrfelali 6l 39 = NYW S 9 1 gREE S
W ) s § ufaeiid s

ST WA & qren § gedicd

[Question ID = 949][Question Description = 144_00_General_13_SEPT22_Q44]

A D

E Only

F9d4 A D E

[Option ID = 3793]

A B. C Only

g A B. C

[Option ID = 3794]

A C, E Only

Fg9 A C. E

[Option ID = 3795]

B. C. E Only

#ae B. C. E

[Option ID = 3796]

40)

(iven below are two statements :

Statement [ : As per National Education Policy 2020, Agricultural Universities
comprise approximately 9% of all universities in India but enrclment in
agricultural and allied sciences is less than 1% of total enrolment in
higher eduecation

Statement I : National Education Policy 2020 has proposed to set up the Higher
Education Commiszion of India (HECT).

In the Light of the above statements. choose the correct answer from the options given helow !

SIERARE e R G U
FU4 1. It foven difa 2020 § upa % ofi favafaaed & s=ria 9 ofasm $fy favafemes 2

i w3 Fag fase § g=m e § 1 afoem & @9 v 2

Fa I1:  ndta faren ifa 2020, ¥ uve % 3= fen #/=E0 & 71234 &1 a2

I FYF & HTeh 4, 44 fou o feepeat 4 9 19 39 o =99 it

[Question ID = 950][Question Description = 145_00_General_13_SEPT22_Q45]

Both Statement I and Statement IT are true



2.

3.

4.

#1370 I3 9 A

[Option ID = 3797]

Both Statement I and Statement IT ave false

FeE 1 90 I &1 s9e 8
[Option ID = 3798]

Statement I 1s true but Statement II 1= false
F93 Tued 2, wifess s 11 98 2

[Option ID = 3799]
Statement I 1z false but Statement II 1s true

Fea [ HE B, difed #a 9™ 2

[Option ID = 3800]

Topic:- GP_22SEPT22_SH1_S1_PartC

1)

Read the passage and answer questions from guestion.

Trade policy typically reaches the public conselousness. and the media. when some national
producers complain that there 1z distorted trade in the goods they produce. Often. producers
are concerned because mmported goods cut into their profits or cost them their jobs, Other
producers may complain that foreign barriers to their goods keep them out of markets abroad
and similarly cut into profits and cost jobs at home. To understand the domestic polities of
trade. we need to know the Interest in guestion. the institutions through which these
interests are expressed. and how competing interests interact with one another. There are
both benefits and costs to trade barriers. Virtually all tools of trade protection-tariffs. quotas,
and other restrictions-make Imports more expenzive. which allows domestic producers to sell
more of thewr products, to raise their prices. or both. When tariffs are impozed on foreign steel
imported into the United States. American steelmakers can expand sales at hizher prices, As
a result. they mav be able to increase profits. raise wages. and hire more workers. Quotas,
which restrict the quality of foreign goods sold in the national market. ultimately have a
similar impact in that the reduction in imports reduces supply, thus raising prices. So trade
barriers assist national producers. The most direct cost of protection is to consumers of the
protected zood. Producers gain and consumers lose from protection, A trade barrer
introduces economic inefficiencies. It leads consumers to consume less of those goods that
protection has made artificially expenzive.



Ferfefige e 1 9fey 3 uw & 290 dtau -

W e TP e I Iedrien S % faEiia samm % Han O Reea #3d &, a9 s s i
SH-=1 vl wifem e R 9 H qd=dl 2| s sengs Mo wa A, w=itE s e
B I Ik @l 4l el 2 FeE 39 309 e H - IE 2

si= Femres W forraa @ Fed 2 T e aei W faae wandl & Fh 3 A & arae § g v
AT 2 R W9 W TR A afEa 8F 92 7| ave SR il &) JegE & o e femedia
&1 HUSH A9 I WA & 96 4 A S s 2 fas e g g4 feal 6 s e e 2 s
ferw e wferere fe s d weh-ge 8 S AT B 1 SR -SR] % o ud i ST AT A aned F,
SR H1E0 & @1 74 491~ Wk, Hiel 09 52 gt -smm w6 s sfus vl g 2, e
HiE] IPTEHT 1 A ING S A=A AR U & ggn HEEl <) SR i 9 F Sl 2| 9
Iiges wem o syrd foe e faRell s @ sifes weress sfadifun A Al 2 A sufiR som-gees
I gl W fasha ) A Hebd A qforaEEEy 9 o @l 8 gig w0 qed A, gegd] @e s 2 iR
it st a1 Frifae @ men 3| @ (P, 0 o aran § o=t af fazeh aeqan 6 oamn
Hifga w1 & AN A IH H HA[ 99Ta I3 2 o6 fe wmma O sl 3 smafd 8 @ e 2 s ga
T ged 4 gfg ARl A | 3 SIME SEidl 3 T el o) wEE) feer #) S & e ueE
W HTfeE o & IR W9 2| 3Pl oy foefan 2 aun 39k 1 Siem | s 2l B
SR FATE S A 1 (-2 0 8 $98 T, 3 T B I FH w= e 7, Al
Hiagu < HAV FEW w9 H WA A S 2

Trade pohey assumes public importance, when
s fifd o7& ik uwe 1 wie el 8, 99 -
[Question ID = 951][Question Description = 146_00_General_13_SEPT22_Q46]
1. Foreign frade iz more
foreshi samm s 21 21

[Option ID = 3801]

2. Domestic production is less

i 3TEA 4 F@Al 2|

[Option ID = 3802]
3. Producers complain

FTEH TR # B

[Option ID = 3803]
4. Media reacts

Hifemn ufdfern ot 21

[Option ID = 3804]



2)

Read the passage and answer guestions from guestion,

Trade policy typically reaches the public conseiousness, and the media. when some national
producers complain that there 1z distorted trade in the goods they produce. Often. producers
are concerned because 1mported goods cut into their profits or cost them their jobs. Other
producers mayv complain that foreign barriers to their goods keep them out of markets abroad
and similarly cut into profits and cost jobs at home. To understand the domestic polities of
trade. we need to know the Interest in question. the Institutlons through which these
interests are expressed. and how competing interests interact with one another. There are
both benefits and costs to trade barriers. Virtually all tools of trade protection-tariffs. quotas,
and other restrictions-make Imports more expensive. which allows domestic producers to =ell
more of thewr products, to raize thelr prices. or both. When tariffs are impozed on foreizn steel
imported into the United States. American steelmakers can expand sales at higher prices, As
a result. they may be able to Increase profits. raise wages. and hire more workers. Quotas,
which restrict the quality of foreign goods sold in the national market. ultimately have a
similar impact in that the reduction m imports reduces supply. thus raising prices. So trade
barriers assist national producers. The most direct cost of protection is to consumers of the
protected zood. Producers gain and consumers lose from protection. A trade barrer
introduces economic inefficiencies. It leads consumers to consume less of those goods that

protection has made artificially expensive.
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[Question ID = 952][Question Description = 147_00_General_13_SEPT22_Q47]

1.

2.

3.

Producers’ interests
FATESF (el |

[Option ID = 3805]
Institutional mtervention

[Option ID = 3806]
International opinion



4.
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[Option ID = 3807]
Pirice elastieity
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[Option ID = 3808]

3)

Read the passage and answer guestions from guestion.

Trade policy typically reaches the public conseiousness, and the media. when some national
producers complain that there 1z distorted trade in the goods they produce. Often. producers
are concerned because imported goods cut into their profits or cost them their jobs. Other
producers may complain that foreign barriers to their zoods keep them out of markets abroad
and similarly cut into profits and cost jobs at home. To understand the domestic polities of
trade. we need to know the Interest in guestion. the institutions through which these
interests arve expressed. and how competing interestz interact with one ancther. There are
both benefits and costs to trade barriers. Virtually all tools of trade protection-tariffs. quotas,
and other restrictions-make unports more expensive. which allows domestic producers fo sell
more of thewr products. to raise their prices. or both. When tariffs are imposed on foreign steel
imported into the United States. American steelmakers can expand sales at higher prices. As
a result. they may be able to increase profits. raise wages. and hire more workers. Quotas,
which restrict the quality of foreign goods sold in the national market. ultimately have a
similar impact in that the reduction m imports reduces supply. thus raising prices. So trade
barriers assist national producers. The most divect cost of protection is to consumers of the
protected zood. Producers gain and consumers lose from protection, A trade barrier
introduces economic inefficiencies. It leads consumers to consume less of those goeds that

protection has made artificially expenzive.
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[Question ID = 953][Question Description = 148_00_General_13_SEPT22_Q48]

1.

Reduced prices of products



2.

3.

4.

4)
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[Option ID = 3809]

Increase in export prices
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[Option ID = 3810]

Higher prices for domestic products
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[Option ID = 3811]
Availability of quality products
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[Option ID = 3812]

Read the passage and answer questions from guestion.

Trade policy typically veaches the public conseiousness. and the media. when some national
producers complain that there 1z distorted trade in the goods they produce. Often. producers
are concerned because mmported zoods cut into their profits or cost them their jobs, Other
producers mayv complain that foreign barriers to their goods keep them out of markets abroad
and similarly cut into profits and cost jobs at home. To understand the domestic polities of
trade. we need to know the Interest in gquestion. the institutlons through which these
interests are expressed. and how competing interests interact with one ancther. There are
both benefits and costs to trade barriers. Virtually all tools of trade protection-tariffs. quotas,
and other restrictions-make Imports more expensive. which allows domestic producers to sell
more of thelr products, to raise their prices. or both. When tariffs are imposed on foreign steel
imported inte the United States. American steelmakers can expand sales at hizher prices. As
a result. they mayv be able to increase profits. ralse wages. and hire more workers. Quotas,
which restrict the quality of foreign goods sold in the national market. ultimately have a
similar impact in that the reduction In imports reduces supply. thus raising prices. So trade
barriers assist national producers. The most direct cost of protection is to consumers of the
protected =ood. Producers gain and consumers lose from protection. A irade barrier
introduces economic inefficiencies. It leads consumers to consume less of those goods that
protection has made artificially expensive.



Frefetfiga rem w1 gfew s uwa 1 397 diftau -

W e TP e I Iedrien S % faEiia samm % Han O Reea #3d &, a9 s s i
SH-Ha vd ifem a9 weftrrers w9 d qaEd /) sl seres o wa 8, s srafea aegan
B I Ik @l 4l el 2 FeE 39 309 e H - IE 2

si= Femres W forraa @ Fed 2 T e aei W faae wandl & Fh 3 A & arae § g v
AT 2 R W9 W TR A afEa 8F 92 7| ave SR il &) JegE & o e femedia
&1 HUSH A9 I WA & 96 4 A S s 2 fas e g g4 feal 6 s e e 2 s
ferw e wferere fe s d weh-ge 8 S AT B 1 SR -SR] % o ud i ST AT A aned F,
SR H1E0 & @1 74 491~ Wk, Hiel 09 52 gt -smm w6 s sfus vl g 2, e
HiE] IPTEHT 1 A ING S A=A AR U & ggn HEEl <) SR i 9 F Sl 2| 9
Iiges wem o syrd foe e faRell s @ sifes weress sfadifun A Al 2 A sufiR som-gees
I gl W fasha ) A Hebd A qforaEEEy 9 o @l 8 gig w0 qed A, gegd] @e s 2 iR
it st a1 Frifae @ men 3| @ (P, 0 o aran § o=t af fazeh aeqan 6 oamn
Hifga w1 & AN A IH H HA[ 99Ta I3 2 o6 fe wmma O sl 3 smafd 8 @ e 2 s ga
T ged 4 gfg ARl A | 3 SIME SEidl 3 T el o) wEE) feer #) S & e ueE
W HTfeE o & IR W9 2| 3Pl oy foefan 2 aun 39k 1 Siem | s 2l B
SR FATE S A 1 (-2 0 8 $98 T, 3 T B I FH w= e 7, Al
Hiagu < HAV FEW w9 H WA A S 2

Imposition of trade barriers means

S HE] & sl w w0y 2 -

[Question ID = 954][Question Description = 149_00_General_13_SEPT22_Q49]

1.

2.

3.

4.

Lower wages for the labour
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[Option ID = 3813]

More consumption of domestic products
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[Option ID = 3814]
Priority for consumer protection
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Economic mefficiency
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5)

Read the passage and answer guestions from guestion,

Trade policy typically reaches the public conseiousness, and the media. when some national
producers complain that there 1z distorted trade in the goods they produce. Often. producers
are concerned because 1mported goods cut into their profits or cost them their jobs. Other
producers mayv complain that foreign barriers to their goods keep them out of markets abroad
and similarly cut into profits and cost jobs at home. To understand the domestic polities of
trade. we need to know the Interest in question. the Institutlons through which these
interests are expressed. and how competing interests interact with one another. There are
both benefits and costs to trade barriers. Virtually all tools of trade protection-tariffs. quotas,
and other restrictions-make Imports more expensive. which allows domestic producers to =ell
more of thewr products, to raize thelr prices. or both. When tariffs are impozed on foreizn steel
imported into the United States. American steelmakers can expand sales at higher prices, As
a result. they may be able to Increase profits. raise wages. and hire more workers. Quotas,
which restrict the quality of foreign goods sold in the national market. ultimately have a
similar impact in that the reduction m imports reduces supply. thus raising prices. So trade
barriers assist national producers. The most direct cost of protection is to consumers of the
protected zood. Producers gain and consumers lose from protection. A trade barrer
introduces economic inefficiencies. It leads consumers to consume less of those goods that

protection has made artificially expensive.
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[Question ID = 955][Question Description = 150_00_General_13_SEPT22_Q50]

1.

2.

3.

The need for quotas
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[Option ID = 3817]
The advantages of trade barriers for foreign suppliers
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[Option ID = 3818]

The benefits of trade barriers to conzumers.
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[Option ID = 3819]
4. The merits and demerits of trade barriers.
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